H & 0l & AHS B Ml A

M THH M 2
Rl Atetd e EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
Hzte| 17,764,327 12,568,219 5,19, 108
= 7,026 7,026 0
z 3,414,500 2,914,500 500,000
< 1,834,413 1,540,513 293,900
= 50,000 0 50,000
= 12,458,388 8,106, 180 4,352,208
THitord 2te| 1,160,795 449,149 711,646
= 2,500 2,500 0
< 11,040 11,040 0
= 1,147,255 435,609 711,646
THHOrM 2he| 791,1% 79,550 711,646
THEF QM AR =2 741,1% 29,550 711,646
101 @124H| 72,800 0 72,800
M IRIMZZ2S e 72,800 0 72,800
OTHLI M ASHA JI2EHI2 22X TS
2,600,000 *4H+72 72,800 0 72,800
401 AlZBIL S THYI 640,000 0 640,000
01 Al&ZHI 640,000 0 640,000
OoNjtetdataral 2ty 2lmg SA 640,000 0 640,000
405 THAHFESHI 12,046 13,200 A1,154
01 TR ESF SHI 12,046 13,200 A1,154
ot Ssaad tES AY
Z& 12,046,000 12,046 13,200 A1, 154
e & Ngodle 28 23 397,84 390,254 7,600
= 4,526 4,526 0
= 12,223 12,223 0
= 381,105 373,505 7,600
geEg 2 2 247,229 239,629 7,600
= 4,526 4,526 0
< 6,723 6.723 0
z 235,980 228,380 7,600
el Ws o 2H(XA) 35,260 30,260 5,000
301 LEENEZ 7,000 2,000 5,000
11 SAREIXES 5,000 0 5,000
oudgVISH 25 N 5,000 0 5,000
LERAlE & 2 19,600 17,000 2,600
201 B2l 19,600 17,000 2,600
2 S22l 19,600 17,000 2,600
ovlgel SAE KAL) 6,000 3,400 2,600
OsS=+AlE =& S Al
Z& 4,200,000 4,200 1,600 2,600
A2HESAE 1,859,500 79,500 1,780,000
= 20,000 20,000 0




FA: oA 2te|
M AUESXH
&t AR AEASKE (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HunsZ
= 1,839,500 59,500 1,780,000
SR ARSI 1,859,500 79,500 1,780,000
< 20,000 20,000 0
= 1,839,500 59,500 1,780,000
Shde & AXE2GXE 19,500 39,500 A20,000
401 AIEHIL 20HY] 0 20,000 A20,000
01 Al&HI 0 20,000 £20,000
o4 MEAZAUU AIRA IS
SHAIE OIESA g3 02 0 20,000 £20,000
3|SH 19t M HIE 01™ 22X 1,800,000 0 1,800,000
401 AIEHIZL20HY 1,800,000 0 1,800,000
01 Al&HI 1,800,000 0 1,800,000
Oz=|3H192tMEIE Ol X 2a= 1,800,000 0 1,800,000
MolIEXS L FHXHHHI 10,320,000 8,415,000 1,905,000
= 3,414,500 2,914,500 500,000
< 1,762,250 1,457,250 305,000
S 50,000 0 50,000
= 5,093,250 4,043,250 1,050,000
XHoH Ol 2 At 10,320,000 8,415,000 1,905,000
= 3,414,500 2,914,500 500,000
[ 1,762,250 1,457,250 305,000
x 50,000 0 50,000
= 5,093,250 4,043,250 1,050,000
ol AE =221 MIHA 1,190,000 830,000 360,000
401 AIEHIZL 20 1,190,000 830,000 360,000
01 Al&HI 1,190,000 830,000 360,000
Ottt AEXT HHIERL! MAHA 20,000 0 20,000
O&tat Z2H0S HAHRIE 22! MIAAY 50,000 0 50,000
©O3dt0l ZE0tS MoliIERe! MAAS 60,000 0 60,000
o&el AEXT HIER2! MAHA 40,000 0 40,000
OOt ZEX T MHHIERL! MAHA 20,000 0 20,000
OUII SAX7 MHLIE ! MAAS 60,000 0 60,000
O3l JteI0tE MaIE@ 20! MAAS 30,000 0 30,000
O=oll tEDIES MAHKIER! MAAS 20,000 0 20,000
oS F=0t2 MHRIER2 MAHA 40,000 0 40,000
ONF SE0IS MHHIER MAHA 20,000 0 20,000
272 SSAIE FHIMS(ME) 1,550,000 1,060,000 490,000
401 Al&BIL S CHYI 1,550,000 1,060,000 490,000
01 AlI&HI 1,550,000 1,060,000 490,000
ONES AEZ3AE B4 L & 160,000 0 160,000
OUIt A2 ZZ3AIE FHIAIS (AAIMIF) 40,000 0 40,000
OUIt A2 ZZ3AE ZHIAIS (REAIF) 50,000 0 50,000




2A:

otM 2| o

33 MolIEXs & FHAXSEH|
CH2: THOHOI A (SH9 H2)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
Ot 272 ZIAIE FHIAL OIS HIA
Q1) 120,000 120,000
O 272 SSAIE FHIAL(ZEZAH) 40,000 40,000
O A2 SS3AE ZHIAL (ZH2EA
&) 20,000 0 20,000
ONF 2782 ZIAE ZHIAI(MEZSA
&) 60,000 0 60,000
A2 BZAE ZHIAS(AWE) 490,000 340,000 150,000
401 AlEBIYL S THYI 490,000 340,000 150,000
01 Al&HI 490,000 340,000 150,000
OAHE SSAE FHIAMS (L&A1 2H) (2023
E Gt SELRA) 200,000 200,000 0
OAHE SSAIE ZHIAG (AT E) 150,000 0 150,000
THOH I & XIS H I (THaH I & X1 72) (0FeY) 2,502,000 1,402,000 1,100,000
= 1,250,000 700,000 550,000
< 625,000 350,000 275,000
s 627,000 352,000 275,000
401 AlZBIL S CHYI 2,502,000 1,402,000 1,100,000
= 1,250,000 700,000 550,000
< 625,000 350,000 275,000
= 627,000 352,000 275,000
01 Al&ZHI 2,100,000 1,200,000 900,000
OO0y XHHTHOH IR T EHIAIY
& 2,100,000,000& 2,100,000 1,200,000 900,000
= 1,050,000 600,000 450,000
< 525,000 300,000 225,000
= 525,000 300,000 225,000
02 2t2ld| 400,000 200,000 200,000
OO0y AKX+ ZHIAMY A4
Argze| 8% Z& 400,000,000& 400,000 200,000 200,000
= 200,000 100,000 100,000
< 100,000 50,000 50,000
o 100,000 50,000 50,000
THOHRI B XIS A (THSHRI B X7 ) (&HE) 302,000 1,402,000 1,100,000
= 150,000 700,000 550,000
< 75,000 350,000 A275,000
= 77,000 352,000 A275,000
401 AlEHIYL S THYI 302,000 1,402,000 1,100,000
z 150,000 700,000 550,000
< 75,000 350,000 A275,000
= 77,000 362,000 £275,000
01 Al&HI 300,000 1,300,000 1,000,000
OdE NHAMMHASINEX T HEIAY
Z& 300,000,000 300,000 1,300,000 1,000,000
z 150,000 650,000 500,000




SA: etd et

Ha: THOHPIBIKIS & FOEKI |
S THOH Ol 2 AL
SN - GA(SH) - NRAY - BES 0 &t N E o

< 75,000 325,000

= 75,000 325,000

02 Zeldl 0 100,000
O&E NATHOHRE ML X7 HUIAIY A&

Agzel =4 Z2& 03 0 100,000

s 0 50,000

& 0 25,000

= 0 25,000

oIS X =™l (HolRI&XI7) (XKIZ) 1,000,000 200,000

= 500,000 0

= 250,000 0

= 250,000 200,000

401 AIEHIZL 28I 1,000,000 200,000

= 500,000 0

= 250,000 0

i 250,000 200,000

01 Al&HI 1,000,000 200,000
OXIE THTHHAEINSX 7 HUIA[FE

SHEA] Z2 & 1,000,000,000& 1,000,000 200,000

= 500,000 0

& 250,000 0

i 250,000 200,000

ZHHIALS 55,000 0

= 55,000 0

201 2| 15,000 0

= 15,000 0

01 AtR2telt] 15,000 0

=2 g 2= 2 15,000 0

= 15,000 0

401 AIEHIZL 28I 40,000 0

= 40,000 0

01 Al&HI 40,000 0

O=g ALE OsY 4X 40,000 0

L= 40,000 0

SoflH EME UM (SEXZFHWNEZ) 50,000 0

N 50,000 0

401 AIEHIZL 2018 50,000 0

x 50,000 0

01 Al&HI 50,000 0

OSaHH ZENE AL [FELEH] 50,000 0

= 50,000 0

AEOLM DB Y 2,166,807 1,427,607

= 20,400 36,000




2A:
X XH -
o e

=aak

oIz 22| I}
MEOIR J|Et X4
CVESZHME 2%

S - BE - BI(3) - NRAY - BAS O] a0 ol H o CImE==
= 2,146,407 1,391,607 754,800
CCVSe2NdY 24 2,166,807 1,427,607 739,200
= 20,400 36,000 215,600
= 2,146,407 1,391,607 754,800
Xsg CCv &X XA 68,000 120,000 A52,000
& 20,400 36,000 A 15,600
i 47,600 84,000 236,400
401 AIEHIZL 28I 68,000 120,000 A52,000
L= 20,400 36,000 A 15,600
ik 47,600 84,000 236,400
01 AlIZHI 68,000 120,000 /52,000
OXIs& CCv &X Z & 68,000,000 68,000 120,000 /52,000
= 20,400 36,000 A 15,600
= 47,600 84,000 236,400
OIS CTV S& XIsE AIAE R=(2023E &HEHD| 740,000 0 740,000
S= =)
401 Al&HIZ 20| 400,000 400,000
01 A&l 400,000 400,000
O1n4s OI=gd IV S8 Ass AlAE
=(20234 BlED| SEWEA) 400,000 0 400,000
405 XHAHE SHI 340,000 0 340,000
01 L = SF S| 340,000 0 340,000
OZAHEESAIAR(DID) wAl &XI(2023E ofbt
Il SEn2A) 300,000 0 300,000
OSE RrotZe|AIAE 1Y 40,000 0 40,000
MstE CCTV Wl (2023 GHEH)| SEWRA) 51,200 0 51,200
401 AlEHIZ 20| 51,200 0 51,200
01 AIZHI 51,200 0 51,200
OXBHE CCTV W AI(2023 et | SEWEA) 25,600 0 25,600
OM=z& CCTV Al 25,600 0 25,600
SCHTHOH Ol 2 115,050 84,080 31,000
= 4,500 0 4,500
= 110,550 84,050 26,500
SCHAHOHOI 20k OrME AMPHE X4 115,050 84,050 31,000
L= 4,500 0 4,500
i 110,550 84,050 26,500
S Y 2= 75,050 59,050 16,000
201 22 75,050 59,050 16,000
01 AFR2t2ltl 66,050 59,050 7,000
OE=2AH2H | Z& 14,000,000 14,000 7,000 7,000
02 Z324l 9,000 0 9,000
OZCHIHOH HHAFZH Q) S 9,000 0 9,000
SHMHoHM Y A&E K& 15,000 0 15,000
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